

Example Show that

$$\sin x \sin 2x + \cos x \cos 2x = \cos x$$

$$\begin{aligned} \text{LHS} &= \sin x \sin 2x + \cos x \cos 2x \\ &= \sin x (2 \sin x \cos x) + \cos x (\cos^2 x - \sin^2 x) \\ &= 2 \sin^2 x \cos x + \cos^3 x - \cos x \sin^2 x \\ &= \sin^2 x \cos x + \cos^3 x \\ &= \cos x (\sin^2 x + \cos^2 x) \\ &= \cos x (1) \\ &= \cos x = \text{RHS} \quad \text{☺} \end{aligned}$$

Example 2 Show that

$$\frac{\sin \theta}{1 - \cos \theta} = \csc \theta + \cot \theta$$

$$\begin{aligned} \text{RHS} &= \csc \theta + \cot \theta \\ &= \frac{1}{\sin \theta} + \frac{\cos \theta}{\sin \theta} \end{aligned}$$

$$= \frac{1 + \cos \theta}{\sin \theta}$$

$$\text{LHS} = \frac{\sin \theta}{1 - \cos \theta}$$

Trick!

multiply by
conjugate of $1 - \cos \theta$
i.e. $1 + \cos \theta$

$$= \frac{\sin \theta}{1 - \cos \theta} \cdot 1$$

$$= \frac{\sin \theta}{(1 - \cos \theta)} \cdot \frac{(1 + \cos \theta)}{(1 + \cos \theta)}$$

$$= \frac{\sin \theta (1 + \cos \theta)}{1^2 - \cos^2 \theta}$$

$$= \frac{\cancel{\sin \theta} (1 + \cos \theta)}{\cancel{\sin^2 \theta}}$$

$$= \frac{\sin^2 \theta}{1 + \cos \theta} = \text{RHS} \quad \text{😊}$$